d0dainos A9 Wnig13g
NI d33NA0ydd

X1JJ



INIAIT9 INIENA
SNOILdNYYILNI SINIATHd

N\

el

W3LSAS
1VYNOLLIaYYdL




5| T T H:
S5 -
L] L ..EH
JT . _ BEERH -

' ' ERERE -

N

Z
N PUZIEL = A BHE |.| IE |E
109 =4 BEEERRRR -
HEEERR -
IEI gflaf=]= = | e IEIH
g2 = = = IEIE
| =1=1=10- 1

[= ==L LT =]
el =]

= L e e = )

B o e L e ]

| || [= = =] L= L= L= = Ill -] -

“’”W

15
13

0
8

7
24

30
27

44

3z
27
24
7

(S|

45

67
53
&1

=

80

REVOLUTIONARY

EVERY TIME.
SIMPLICITY.”

Use the diagram to calculate the number of clips per square meter.
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